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MASTER OF ARTS (ECONOMICS)
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Term-End Examination
June, 2011
MEC-005 : INDIAN ECONOMIC POLICY
Time : 3 hours Maxinon Marks 100

Note :  Attempt questions froni eaclt section as per instructions

Qiven.

SECTION-A
Answer any two of the following questions in
about 700 words each. 2x20=40
1. Why is it necessary to study the structure of 20
national income of a country ? Examine the
structural changes in India’s national income since
1970-71. Examine implications of these changes

for poverty and unemployment in India.

2. State the different major constituents of economic 20
reforms. Are they linked to each other ? Critically

examine the impact of economic reforms.

3. Distinguish between foreign direct investment 20
and portfolio investment as sources of private
foreign capital.  Critically examine the

government policy towards foreign capital.
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4.  What do you mean by fiscal imbalance ? Givean 20
overview of the fiscal imbalance observed in the
central government finances in India since
1990-91. Examine the steps taken to correct this

situation.
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SECTION - B

Answer any five questions in about 400 words

each. 5x12=60

State the various dimensions of shrinking land
base and declining access to land in ndia. How
far the policy measures taken by the government

have been effective in this regard ?

What do you mean by social infrastructure ? State
its important constituents. Also exarnine the
importance of the health sector in human capital

formation in India.

Discuss the different constituents of money

market in India.

Explain how does black income enhauce

consumerism in India.

Do you think that bureaucratic hurdles are
responsible for poor implementation of economic
policies in India ? Give reasons in support of your

answer.

State the functions of International monetary
fund. How far has India benefited from its

membership ?
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11. State the principle instruments of macro economic 12

policy.

12.  Explain any three of the following : 3x4=12
(a) Contract farming
(b) Primary deficit

¢) Gadgil formula

(

(d) Disinvestment

(e) Industrial diversification
(

f)  Human Development index.
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12. fr=fafaa # 9 fegl d7 = sren =it . 3x4=12
(a) 3% W wHA HI Bl
(by wrufHes =
(c) et wwen
(d) 2w (Disinvestment)
(e) st fafauar (Industrial Diversification)
() wra fowm fdves

MEC-005 8



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

